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Restrict beam position to control for its effect on the edge position

Spring 2020 beam positions before cuts

Spring 2020 beam positions after cuts
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Ensure that beam is up
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Zoom in on certain regions of phase space to see effect of goniometer
angle on edge position

Pitch vs. Yaw vs. Edge Position
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Zoom in on certain regions of phase space to see effect of goniometer
angle on edge position

Pitch vs. Yaw vs. Edge Position
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Pitch and Roll are constant, can just look at effect of yaw on coherent edge

Yaw vs. Pitch vs. Coherent Edge (Spring 2020, Pitch < -0.5 deg)
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Spread in the coherent edge position for similar goniometer orientations

Coherent Edge vs. Yaw (Spring 2020, pitch < -0.5 deg)
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Zoom in on certain regions of phase space to see effect of goniometer
angle on edge position

Pitch vs. Yaw vs. Edge Position
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Yaw and Roll are constant, can just look at effect of pitch on coherent edge

Yaw vs. Pitch vs. Coherent Edge (Spring 2020, 1.4 deg < Yaw < 1.6 deg)
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Spread in the coherent edge position for similar goniometer orientations

Coherent Edge Position (MeV)

Coherent Edge vs. Pitch (Spring 2020, 1.4 deg < Yaw < 1.6 deg)
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